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1,50020 * 2000H * 3% 900
ML BHHYE 4,700 5,360 2660
AML BHHYE 4,700 5,360 A660
201 LByl 4,700 5,360 660
01 ALR eIt 1,900 2,560 660
OMAL S DT HA
1002 * 3,00004 * 3% 900
OME,ZE A =AM A
5002 * 1,00004 * 2% 1,000
02 IT2YH| 2,800 2,800 0
OHIHE SXA S| 2
1,75021 * 1,60024 2,800
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ro o2 olon
J¥ 0 JR
H0 MO

B A
(SR AL
=

=

CEE (S - MRAY - HAS

OH
i

soPy ALY 8,969, 150
2 484,108
Al 8,485,042
BHSAFH(SYT AL D) 1,495,584
olz2 | 246,484
o121 246,484
o121 246,484
Lo 2ERE > 246,484
oz2E+8 238,726
oo=(U3) 163,900
194 X} 32,800,0008 * 1% 32,800
-18 Xt 32,100,0008 * 1% 32,100
-1 27,200,008 * 1% 27,200
8L Rt 25,100,008 * 1% 25,100
-7 Xt 24,400,0008 * 1% 24,400
-4 Xt £2,300,0008 * 1% 22,300
Oxg 60,036
tE4g 5,760
HH 2 Xt 40,0008 * 6% » 128 2,880
ZHl% 20,0002 * 12g « 12 2,880
R 10,0008 * 1% « 128 1,200
iR g
30,400,0008! / 3652 * 52 * 6% 2,499
—oiE2E LY
15,6108 » 25A12F * 128 » 6% 28,098
-£ Y orEEAY
15,6108 * 240AI2t * 6% 22,479
SYVEEDE] 3,990
-E5ty 43,2008 * 43| * 39 519
-nSEy 433,780 * 48| * 2% 3,471
OY=E It 900,000 * 23| * 6% 10,800
o249 1= 1,758
Oxegs 90,0008 * 6% 540
0=l 15,0008 * 6% 9
OoHa 3t 10,0002 * 6% 600
O3t 13,0008 * 6% 78
Ogtst= 75,0008 * 6% 450
O=2IISH S2X S| 3,000
SEIETIEBCE! 5,0008 * 6% * 602 1,800
OZ ol o = 5,0008 * 6% * 402 1,200
O=4X X2 500,008 * 6% 3,000
1,249,100
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SN ESTE AL
Y WESAHY (22T AL
S RSTEE EERED
SA - SR(E) - HRAY - BES O &t o4 e HIRE
Jl=&Hl 1,249,100 0 1,249,100
201 Let2d| 1,235,204 0 1,235,204
01 AtE22|HI 17,328 0 17,328
OJl=gR+8 s34l 10,053,000& 10,053
OME£+LDRA S0l 72,6008 * AT} 363
O©J|EZHl(=8l) 6,912,000& 6,912
02 =23l 1,217,876 0 1,217,876
oRER= 10,400
oget 250& + 10,000 2,500
Os&II 1,750& * 4,000 7,000
OSJIR¥ gt&sax 1,500& = 60024 900
OHZES HIIR= 1,207,476
Ooxrzs 6,600& = 8,000& = 12& 633,600
OEB¢ets 5,2408 « 7,000 * 128 440,160
O+EHE 4,000,000& = 123 48,000
OHOIEAtHel XIotxtE
6,000,000& » 12& 72,000
ON2S YYE SU23
3,8102 » 300 * 128 13,716
202 (4Hl 9,216 9,216
01 WY 9,216 9,216
OJI=Z 4 9,216,000& 9,216
203 PR =& 4,680 4,680
04 RA2SHRFLH| 4,680 4,680
©JIF % (302!0l0t) 350,000& = 123 4,200
O=1tH 5,000& = 8& » 128 480
NADEL MG TADIBES 4,666,699 4,666,699
SE12m0IBHe TAIHEEZ W4l 2,060,971 2,060,971
ts SUHOHIESE 24 1,254,500 1,254,500
401 Al&HI LR OHYI 1,254,500 1,254,500
01 Al&HI 1,250,000 1,250,000
OEX ol 1,200,000,000& 1,200,000
O3 Atdl (L=280m, B=8m) 50,000,000 50,000
03 AIZ 204l 4,500 4,500
O RIMEET JIEFL Y]
1,250,000,000& * 0.36% 4,500
s deltidy 244 402,880 402,880
401 Al&HI LS OHYI 402,880 402,880
01 Al&H| 400,000 400,000
OEX il 400,000,000& 400,000
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SN EHRE A&
HE: NHRHLHAS CAIIPES

o

Gl CEion0lerel SANHEEE Ha (ersl: &g
SA BB E(B) - HEANY - BES 0f &t e 2
03 Al 20| 2,880 2,880
OEZ2M&=X DIEH 20|
400,000,000& = 0.72% 2,880
FMZEW & S2IHESAL 22,540 22,540
401 A &HIYL 2048 22,540 22,540
01 Al&H| 22,540 22,540
oMM HE AE 448 8,980
OAHHI} 448
350,000,000& = 0.0011 = 2J4J| &t = 23| 1,540
OLRHOHE == 70,000& » 5& X 350
OEHEEY ==& 429,000& = 102Xl 4,290
O=2gs"g =8 280,000& * 102 X| 2,800
OAAEAHEA (L=306m, B=8m)
400,000,000& * 3.39% 13,560
|5ls 388 ST 2HA B AL 19,435 19,435
401 AM&HIL 2048 19,435 19,435
01 Al&H| 19,435 19,435
OMAR HE 2AE 248 5,875
OB} 242
450,000,000& = 0.0011 * 2J42J( 2 * 23| 1,980
OL/HHE =3 70,000& = 5E X 350
OZHs"g =8 429,000& * 5 X 2,145
Ogs"g =28 280,000& * 5& X 1,400
OAAMNEHES (L=170m, B=8m)
400,000,000& * 3.39% 13,560
HE PHOIIE o C2HA 32,469 32,469
401 AIEHIZ 2 32,469 32,469
01 Al&t| 32,469 32,469
OMLHE BHs A8 =2 2,469
OZ&¥EI===2
30,000,000& * 0.0011 *= 2J420|2 * 23| 132
OxRHUH =2 70,000& = 3Z X 210
OZAHEE" =2 429,000 * 3Z X 1,287
OFREsEY =2 280,000& » 3 X 840
O© 3 AttI 30,000, 000& 30,000
ZIIBAE &#F X2 26,927 26,927
201 Y| 24,887 24,887
01 AFR22lH| 24,887 24,887
OZAHECRA AIRE 8,965
O=AMEX 7Y 18,000& * 5&tXt » 128 1,080
O&H 2,225
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L XGRHUHSAE TADIBIEY
D LCE1on0i2te] SAHET2 A

SN I SRI(S) - NRAY - B 01l &t o als B RS2
0f 4 o8
~H TS A 260,000& * 504 1,300
-dl0lMEEH 185,000& = 504 925
O3l A2F 5,060
-43 220,000& * 200K 4,400
-0IEJ] ZEX 27,5002 = 1504 413
-215J| 28 17,6003 = 1404 247
OEXOIZHEABMEN S0
30& = 20,0000H 600
OEXNEEHE 252 ¢ Slle=2 1,750
Osgs=x8 280,000& * 5& X 1,400
Osll==2 70,000& = 5Z X 350
odxt= 14,172
OEZ2X Uz
240,000& ~ 12Xl ~ 12& 2,880
OAMES 280-181X S 22 11,292
-2 gz 941,000& = 128 11,292
202 O4Hl 2,040 2,040
02 MO 2,040 2,040
OEXNSEHZE ZAA FHNH|
170,000 = 1 * 128 2,040
| S2EAEA 24 302,220 302,220
401 A EHIL 201 302,220 302,220
01 Al&HI 302,220 302,220
OJ HYEX 24 300,000,000& 300,000
ONM&A Bs =2 2,220
OZ3EII===
300,000,000& = 0.0008 * 2JHJ|2 = 23] 960
O2RAHEOH == 70,000& » 18E X 1,260
22| 2,605,728 2,605,728
2HH L RNBL 2,605,728 2,605,728
201 et 82,758 82,758
01 At 2l 13,597 13,597
O =2FHl A8 A28 8,647
OE=2H EXI(A1) 27,5004 = 58 123 1,650
OEZHZXI(A0) 66,000& * 12  12& 792
O22H dlE 48,4003 * 204 » 123 1,162
O22H ¢3 55,000& * 504 * 12& 3,300
OZgy &Y 99,000& * 1Jf * 12& 1,188
O=Zggy 232 46,2003 « 101 ~ 128 555
Ok=zH8 &M= HAH HHIEX= 4,950
O=4D] 550,000& = 10H » 5 2,750
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SN

SGd A4
M NERELMEAS TADIBIERS
Sl S22t (&9 HM
A -3 -H2A(SH) - HEAMY - BES O AFH glga_":‘g Hos
Og=xt 440,000& * 10H » 5 2,200
02 2323l 69,161 0 69,161
OTEESTH RFU (BHESQ 48)
1,726@ = 200 ¢ 346
OZ=ZJ st MR U SR (AUSSR)
1,047 = 154 » 60 943
OE==Z3HI&EH|l «=cld| 500,000& * 6& 3,000
Otz 9,840
occveld Atz = 8,640
XI5t Xt = 240,000& * 120H& * 1HA 2,880
-2z |1
240,000& * 120H& * 102 2,880
-8352X 7 |1
240,0003 * 122H& = 1JHA 2,880
Ottt AHESZ 1,200
-2 s1
50,000 * 12JH& * 1JHA 600
-d32k 7 |1
50,000 * 12JH& * 1JHA 600
o&IIe= 39,600
OXIBtR & 1,000,000 * 12J0& * 10HA 12,000
Oitz=+Zd |
500,000& * 120H& * 2JHA 12,000
O4dsteX= |1
500,000 * 12JH& * 1JHA 6,000
Otisu 300,000 * 120HE = 10HA 3,600
Ol DIXE
1,000,000& * 6JH& * 1A 6,000
0520 X4 15,432
O&s2ZJ AHMEZ UHds=2=
206,000& * 12JH& * 6JH A 14,832
Os2J] HIIEA =22
100,000 * 6IH A 600
206 M= ul 37,030 0 37,030
01 M=Hl 37,030 0 37,030
oxgzE+2 M 36,760
OANHE 5,000& » 500% 2,500
OZfora=2 14,0002 * 1,000 14,000
O (MA) 16,000 * 500m 8,000
O=30| 18,0002 * 1004 180
o 9,000& * 1004 = 2= 180
oxgddax=3 231,000& = 504 11,550
Oo&aHI ¢ 350,000 * 1JH 350
OEZESAYN td&e|g XM 270
OSAF QHLY E X & 60,000& * 20K 120
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SN BETE AT
B (ADHUM T CAIBEY
chel SRR (el m
S HEM O (S H) - HIRAY - BAS Of) & o4 dE = Hm=2
- - T * - =2 R wl e o = O:H{ﬂ,% Wsa
O&IISE 15,000& = 1004 150
305 A2 S 10,000 10,000
01 HH&a2S 10,000 10,000
OEZAIE AIDEM HiAZ
2,500,000& * 43| 10,000
401 AlEHIZLE0HY] 2,475,940 2,475,940
01 Al&H| 2,462,900 2,462,900
O =X H| 360,000
OdtolYA1IZZ ~ LG3HE 2 S22 H|Z2AF (L
=600m,B=14m) 200,000,000 200,000
LTOHAIED - 2TEFVUMHD T2
HH|IZ2AF (L=700m, B=14m) 160,000,000 160,000
oWz B 80,000
O WHIIEZA 80,000,000& 80,000
OF0=2AH 972,900
OJIEd=E HAHDIEYL R BEAYIZ2A (L=57
Om. B=1~3.5m) 150,000,000& 150,000
OllEd 42 B & XZ2AF (L=350m, B=2m)
54,000,000& 54,000
OFRLEH(M=ZY S) HUIAY
60,000,000 60,000
Oz XN 700,000, 000& 700,000
OdAH=E =2 445,000 ~ 20€ X| 8,900
OARE XNEItRI| AFSH
70,000,000 * 1504 A 1,050,000
03 AlE=20HY] 13,040 13,040
O Z2EHIAIY =&l 2,592
O340|8FZ2AF (221) 360,000,000 * 0.72% 2,592
OuNEFELANYE FA 720
O10|8FZ2AF (124) 80,000,000 = 0.90% 720
OFR=AANY F&A 5,948
OF0=AAIY (4H)
944 ,000,000& * 0.63% 5,948
OALTAE XEIRI| AFE
1,050,000,000& * 0.36% 3,780
RS 2B U =B HE 1,583,220 1,583,220
2ots KAl 456,203 456,203
2 20tE 22 405,753 405,753
01 LBtS9Y| 27,965 27,965
01 AP 2t2ld] 27,965 27,965
OJIEE MI|&H 838 =2 20,645
OHMO2I 42,600 * 180 & 7,668
OPIE=S 6,830 = 1,9000H & 12,977
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SN EERE AL
mu: Ee e U SNBY UE
¢ Jt2 Eots sAl2el (el &)
SN HB SR (BIH) - A - B S 0l &b S D=2
T - = S = &= 0:”/&,% WS
OTEHE etdZeId =2
150,000& = 123 1,800
OHOIEAMAHE AF U =2
60,0004 * 12& 5,520
206 M=H| 25,268 0 25,268
01 M=l 25,268 0 25,268
OJIZ2EotEs BN 25,268
OUESYDZ 20,600& * 300K 6,180
OLIES&2tE DI 18,300& * 300K 5,490
O=2ets887| 73,500& * 100K 7,350
OJtI2s&8E7| 416,500& * 1504 6,248
401 AIEHIZ 2 352,520 352,520
01 Al&HI 350,000 350,000
OMzEos B 500,000& * 70074 2 350,000
03 AIZ 204l 2,520 2,520
OJMzEoHs B 350,000,000& * 0.72% 2,520
t2Eots M4 Y WA 50,450 0 50,450
401 A &HIL 2048 50,450 0 50,450
01 Al&H| 50,000 0 50,000
OJtZ2Eots &8 2 wHl
1,000,000& * 5074 4 50,000
03 AIZ=20bl 450 0 450
OJnzEots Me 2 W
50,000,000& * 0.90% 450
S8 BZME A 746,766 0 746,766
Oelols&d sAZel 746,766 0 746,766
201 Letdy| 4,120 0 4,120
01 AtE222/Hl 4,000 0 4,000
ONE oIS ANMAA(EIZ) =&
400,000& * 10942 4,000
02 Z&=234l 120 0 120
oO=z3=2Ztdl ¥ HA 120
O3& 4dot==ER3
1,000& = 1000 * 123 120
206 M=l 1,500 0 1,500
01 M=H| 1,500 0 1,500
OASAMY ORI0IZE ATE +2 7Y
3,000& = 500= 1,500
305 &tz S 3,000 0 3,000
01 &3S 3,000 0 3,000
OO0 0I=&JLH &oliIloh HH&=  3,000,000& 3,000




SN EHRH AL
Bu: YNE JI2EY U =XTA BB
SHol: DR BAIWH ALY CERE]
= o MuE o
S B CR(S) - NRAIY - BES Ofl &k 04 0Ol At o8 HlmE 2
401 Al&HILSTHY| 738, 146 0 738,146
01 Al&HI 734,200 0 734,200
©0{RI01ZY F| 734,200
OM% ooz 22|
3,000,000& * 3672~ 108,000
OS% ooz 22
3,000,000& * 3674 108,000
Oz% ooz 22
3,000,0008 * 37744 111,000
OojRolZd ANdE SxL
1,200,000& * 10670 2 127,200
OOfRI0IZ SO0IA& HHIBA
7,000,000& * 400H 2~ 280,000
03 A2 R04Hl 3,946 0 3,946
O0RI0IZY 22l Y FUIAY =7
626,200,000 = 0.63% 3,946
2s Y =XAL 2 380,251 0 380,251
24 Bl 130,605 0 130,605
201 LEH2HH| 1,320 0 1,320
01 AtS22iHl 1,320 0 1,320
O%2 4, AL OIAFH YR (BAI))
440,000& * 1CH * 32 1,320
401 AIEHIZ 208 129,285 0 129,285
01 A&l 128,360 0 128,360
OZ2H 24 X MH (MHZ S 430
&) 10,0002 * 12,836% 128,360
03 A2 204bI 925 0 925
O+ SNHHAMY F&
128,360,000& * 0.72% 925
=XAI4E 22 249,646 0 249,646
101 el 24| 19,523 0 19,523
04 JIAHZ 2SS E= 19,523 0 19,523
OJtZettHatel oIy 19,023
OZRA MM 50,000& * 3H = 80 12,000
OS=FJ1& At=&tel 35,1208 » 3" = 50 5,268
ONI-=-F= 1,755
LEEE 17,268,00021 * 4.5% 778
—2eAYBE RS
17,268,000 * 2.665% 461
“HIIQYBHLLI 461,008 * 6.55% 31
SIEEEERES 17,268,000& * 1.3% 225
AT EE = 17,268,000& = 1.5% 260
O=R4& X2l 500,000& =+ 1 500
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SN EHRH AL
M A JI2Ed Y sX32 =S
&2 2 2 SXAIE 2el (H:H2)
S EB ORI (B) - HRAIY - BAS O] &k o8 L=t HlmE2
Ol &k
201 LBty 2,318 0 2,318
02 =Yl 2,318 0 2,318
OZH =XAE B2l 2,318
OLZH| (HE2R)
1,726& = 24 = 10CH » 15 518
oA 5,000& * 0.24 = 10CH » 30 300
O3=XA4 2elEHl =&
100,000& = 10CH 1,000
OJMAlH X IR0 SX 22
500,000& * 104 500
206 TH=HI 17,594 0 17,594
01 M=Hl 17,594 0 17,594
O3 2eES 900
oY & 93 100,000& * 9= 900
OJtZ23tH & e ols& 2el 1,694
Ootdlz 7,0008 * 50X 350
Og2n 8,400% » 808  2& 1,344
O0E0IZd S Ofda 24 T 2L 15,000
QU= 1,500& * 10,0002 15,000
401 AISHIL 2] 210,211 0 210,211
01 Al&H| 208,708 0 208,708
OZHIY| (SHZ S 20H2)
1,000& * 115,458’ 115,458
OFYLAUEY (H24L S 10HA)
1,000& * 93,250m’ 93,250
03 Al 20| 1,503 0 1,503
O=sX&elAmd F=& 208,708,000 * 0.72% 1,503
SMEAE st ARG 20,736 0 20,736
METRE 8 2 B35 20,736 0 20,736
AHE 0l 14,425 0 14,425
201 LBt 12,675 0 12,675
01 A2 22l 6.980 0 6,980
OMSHY EE2 M 3,530
OdExA Y 6,0002! * 2000} 1,200
O2 Xt 5,000& * 504 250
O8l==% 70,000& * 2004 1,400
OxeEs Y 4,000& ~ 10074 400
OFSF=y 2,800& » 100% 280
O« E& S Il=Hl 2,250
ogsts 100,000& = 15%f 1,500
Ootd st 50,000& * 15=% 750
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SN

SCE ALY
M SMCAS 9E AR
ol AETE sS4 Y 25 (=CRE
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
Ou=gXNHMER 2 S
5,000& » 298 * 120 1,200
02 =234l 5,695 0 5,695
Ou=gXHMER HY 1,043
OKFRU(ER) 1,0473& « 62~ 150 943
Os Xl 100,000 = 1CH 100
Ot =8t KAl 4,652
OR4dsSAEH 450,000 * 32CH = 4/100 576
OL=SEI 1,000,000& * 1CH 1,000
Oullofat= &l =] 1,677
-5 1,726& ~ 50~ 304 » 30 7
- 5,000& = 2¢* 304 = 30 900
QUEZAE =& ¢ stEs RFUH (L
=) 1,726& * 32 30H » 90 1,399
206 M=H| 1,750 0 1,750
01 M=l 1,750 0 1,750
OLt= &l 3t & 950
OZ# 7,000& = 1004 700
Odledx 5,000& * 504 250
OosliE SHJ| el 80,000& * 10CH 800
M X4 Y ESAY 6,311 0 6,311
201 LetEHH| 2,311 0 2,311
02 =234l 2,311 0 2,311
O NIl =FAlHl 2,311
OR=U (E%) 1,5098% * 404 = 30 1,811
Os Xl 500,000& * 1CH 500
206 M=l 4,000 0 4,000
01 M=H| 4,000 0 4,000
OdlE HHES A 2,000& * 2,000 4,000
W - oS MZs P 1,202,911 0 1,202,911
2 484,108
Al 718,803
THEE - THOH Ol 2EAH 158,321 0 158,321
Mt 2 THoH 22 158,321 0 158,321
201 Let2d| 98,206 0 98,206
01 AtR 22t 78,850 0 78,850
OMdizle =7& T4l SA= 74,250
O=4D] 550,000& * 3CH * 25 41,250
Og=xt 440,000 * 3CH * 25 33,000
OMtt2el 22 s 70,000& * 102 700
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[

£
(A

A -3 AL

- Mole Mzst #3

0l

SRS
Ch2lr T - THOH G AL (el &)
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
0 & 24
OMLSetataa 221 S|
5,000& * 498 » 120 2,400
OMOoHCHE HIA2RX =SEHI
5,000& = 30H 103 1,500
02 2523l 19,356 0 19,356
OX oM &l =&H| 19,356
Ouetl| |X2el 3,000,000& = 1CH 3,000
ORZEU (LX)
1,726% = 504 = 203| * 6CH 10,356
OMEE Delamdl 4zl
1,000,000& * 6CH 6,000
206 M =4l 60,115 0 60,115
01 M=l 60,115 0 60,115
OTHOHCHZE Xt 9,505
OPPXCH 287& = 16,0000H 4,592
O& X 98,000& * 162 1,568
OE=5 28,0003 *» 163 448
og= 5,000& = 24004 1,200
O=2=2% M 40,700% » 242 977
Otdlg 30,0003 » 248 720
O&LolithiE Kt 50,610
OF =/ 140,000& * 300X 42,000
ORei=0l 2872 = 30,0000H 8,610
ofd - Hi=AlE JHA A 1,044,590 0 1,044,590
=2 484,108
Al 560,482
ot - Hi==Ald EHl & =Xl 71,116 0 71,116
201 B3| 18,536 0 18,536
01 AtR22iHl 6,536 0 6,536
Ostd L EAM HH HHE HHYExzg (24
1) 550,000& * 1CH * 10 5,500
O A& EHIs Xl 1,036
O KRR (HLR)
1,7263 » 102 » 204 » 30 1,036
02 2323l 12,000 0 12,000
O&sZ2ti=8EE KRXH 3,000,000& * 43l 12,000
202 O4Hl 2,040 0 2,040
02 M 2,040 0 2,040
OGSt ZARE XML
170,000 = 1 * 128 2,040
401 A EHIL 204 50,540 0 50,540
01 Al&HI 50,000 0 50,000
Ootd SAZelAd 25,000,000 * 202 50,000
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2M: 29
HH: Y - e M2s P
CHR BHA - BiAAIE DN ALY

_ _ _ N E
SN B SRA(SIH) - MBAY - BAS 0l &k 24 o HlnE2
03 Al&=THYl 540 0 540
OB HRB2IAY Al&=2CHY|
50,000,0002! * 1.08% 540
DBSH FHIA 973,474 0 973,474
2 484,108
Al 489,366
401 AIEHIL2CH] 973,474 0 973,474
2 484,108
Al 489,366
01 Al 98,216 0 98,216
ODASH FUIAY (L=1,640n)
834,554,0002 * 14] 834,554
2 484,108
Al 350,446
OTAR BIS 2AZ 448 59,568
OLHBI 248
830,000,0002 * 0.0009 * 2)HJI 2 * 23] 2,988
OAR OF £42 70,0002 * 83X 5,810
OFHUEY 248 429,0002! * 10Z X| 4,290
Osgszy 248 280,0002 * 166 X| 46,480
OMAILHESS (L=1,640n, B=5.0~8.0)
2,796,000,0002! * 2.65% 74,094
03 Al&=CHYl 5,258 0 5,258
oDnEH HHIA JIEH SOl
834,554,00020 * 0.63% 5,258
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SN EHRE ASD
M ¥HSAAY|(EH ASD)
el Jl= R (Sl &)
_ _ SIEN
SN B SRA(SIH) - MBAY - BAS 0l &k 24 0l ot o ClImEE
sy A 182,555 226,833 ~44,278
HYSYPY(ESD ASD) 40,214 57,875 A17,661
ol = 2| 40,214 57,875 A17,661
2 40,214 57,875 A17,661
201 Lty 20,654 34,475 £13,821
01 Attt 15,288 29,109 ~13,821
oJl=YyR+HBSHY) 6,288,000%! 6,288
oEgASES oY 222 M
5002 * 6,00004 3,000
OASHF ALY ADS(AA) 240
eIIESI-E 20,0002 * 19 * 122 240
CRIEETIEST
5,0002 * 202 * 802 * 90% * 80% 5,760
02 IZ2Y| 5,366 5,366 0
OASHIALEX B2 4,800
o 2502 * 200% * 128 600
0S| 1,75020 * 200S * 122 4,200
OFXIZAD| SXIHl 3,700,008 * 20H * 6% 444
©AZI| KXl 2,033,008 * 6% 122
202 Ot 15,360 19,200 3,840
01 =2Uioibl 15,360 19,200 3,840
©21FZ | 15,360, 0002 15,360
203 HRFAY| 4,200 4,200 0
VeI 4,200 4,200 0
©IIEHI (302 015+ 350,0002 * 122 4,200
AEYT A5 142,341 168,958 £26,617
NETE AEHY =X 113,960 100,048 13,912
Hes ASYZS e 2o 106, 560 82,880 23,680
201 L2y 106, 560 82,880 23,680
01 AR eIt 106, 560 82,880 23,680
OAEGII HETAL A, HOUARB LS
148,00020 * 60021 * 20% 17,760
OANBSQ BEEIAL A, HOIADUBLLR
148,0002! * 60021 88,800
AZTAT AR BSEY 4,736 1,840 AT, 104
301 YBrBAE 4,736 1,840 AT, 104
12 JIEHR A S 4,736 11,840 A7, 104
OASTAN BSHY
148,008 * 4% * 42 * 23] 4,736
WSIE ALS orF FHY 2,664 5,328 A2,664
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SN BEPE AED
M AEUY A5
Sl AREE AEHY =X (S5 &2)
_ _ HE T
SA-EFH - SA(SAH) - MREAY - BES Ol &+ 9K Ofl At ot Hws2
301 LPBAI 2,664 5,328 A2,664
12 JER A3 2,664 5,328 A2,664
OTHLPIE AES HEEY
148,002 * 3% * 32 « 23] 2,664
o NS 28,381 58,290 £29,909
MASE B Y REAFHE A= 4,080 5,420 A1,340
202 04t 4,080 4,080 0
02 B 0it] 4,080 4,080 0
OSHAES S22 A
70,0008 * 2% * 122 4,080
B OCEA U CANS FY 16,043 28,534 A12,491
201 LByl 5,843 13,794 A7,951
01 At 4,983 12,434 A7,451
OLNHIS HII442
54,0002 * 4 + 33 648
OLMFIIS HBAHEY X2 635
OXIH &t 275,002 * 104 * 18l 275
Ostexe 360,0002 * 10 * 13l 360
OLBHEI PAUNE S 222 KX 700
Osl49 70,0008 * 1074 700
OLEBH3I| =EHa SBHs = I
5,000 * 30% * 202 3,000
02 ZT2YH| 860 1,360 A500
OS£QA DA 500,008 * 1% 500
o#cE A8 30,0008 * 122 360
202 04t 10,200 12,040 A1,840
02 oot 10,200 10,200 0
OL-HA HEQF FAUY|
70,0008 * 5 * 122 10,200
ZDS ol U o 8,258 24,336 ~16,078
201 Lpr2y| 1,400 5,154 A3,754
01 At 900 4,154 A3,254
oggzNe ) L (IH)
450,008 * 23| 900
02 IZ2Y| 500 1,000 A500
OS2 T XZHl 500,002 * 12 500
202 Oit| 4,080 5,184 A1, 104
02 =% oit| 4,080 4,080 0
OEHZFNZ S22 A
70,0008 * 28§ * 122 4,080
206 2| 2,778 3,040 A262
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